30/06/2016 College Lecturer Exam - Chemistry-I

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Chemistry-I Time: 3 Hours

Ques # :1

The correct sequence of first ionisation energies of following elements is :
1) Mg <Na<AI<P<S
2)P<S<Mg<Al<Na
3) Na<Mg <AI<P<S
4)Na<Al<Mg<S<P

fArAfaf@d dcal Y T T SAT FT AN HFAE
1) Mg<Na<AI<P<S
2) P<S<Mg<Al<Na
3) Na<Mg<AI<P<S
4) Na<Al<Mg<S<P

Ques # :2

Which of the following elements have positive value of first electron affinity ?
1) Li

2) Be

3) B

4) C

frrafaf@a F ¥ PRt doca Y U7 FAFIA YT FT AT YATCHE ¢ 2

1) Li
2) Be
3) B
4) C
Ques # :3

Select the incorrect statement :

1) Large negative ion favours covalency.

2) Large positive ion favours covalency.

3) Large charge on positive ion favours covalency.
4) Large charge on negative ion favours covalency.

T HYA FT 9T HISD

1) 21 Homaa geaarsTadT & THST TR |

2) 93T YT HEHASTehaT T GHYT HIaT § |

3) AT U 3TV AT e HASThdT T FHIT FIAT R |
4) HUTRIST W 3T 3T HeaAToTehdl &l AT AT |

Ques # 4

Which of the following has largest bond angle ?
1) H,0

2) NH;

3) Has

4) ly”
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faf@a d @ fFasr 9 For rfRFaa 2

1) H0
2) NHs3
3) HsS
4) 15

Ques # :5

The ion having largest ionic radius among the following is :
D Na™

2) F

3) CI

4) K+

RArfaf@d 7 @ 3mae ST 3mafas R a9 e ¢ :

) Na”
2) F
3) CI
4) |,{+
Ques # :6

Which element out of the following will have lowest value of ionic radius for its tripositive ion ?

1) Yb
2) Ho
3) Sm
4) Pr

AT A @ 5T doca & RUarcra® 3 Y 3mafas BT 1 AT 998 S 219 2

1) Yb
2) Ho
3) Sm
4) Pr

Ques # 7

The correct decreasing order of electronegativity for following elements of first group of periodic table is :
1) Li>Na>Rb >Cs

2) K>Na>Rb>Cs

3)Cs>K >Na>Li

4)Rb >(Cs >K > Na

T WROT F JIH F91 & Aeafa i@ deal H RAga HomcAFar T T aear #3778 :
1) Li>Na>Rb>Cs
2) K>Na>Rb>Cs
3) Cs > K >Na > Li
4) Rb>Cs>K>Na

Ques # :8

Which of the following properties show only an increasing trend from right to left in the third period of
periodic table ?

1) Electronegativity
2) Ionisation Energy
3) Atomic Radius

4) Density
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farafaf@a & & lawr o1 3mact aRoft & R srad # g F a1 Fad 541 HA TSR FATE 2
D) faege Fotmessar

2) 3T Fait

3) waTe T fsar

1) gelca

Ques # 9

L.

) sp?
2) spid
3) dsp?
4) sp3d?

L.

1) sp?
2) spid
3) dsp?
4) spid?

Ques # :10

The molecule shows the paramagnetic behavior is :

1) Lis
2) Bg
3) Cs
4 Ny

39T ST AT gFahIT TR G g :

1) Lis
2) B
3) Cs
4 N
Ques # :11

Which of the following is diamagnetic in nature ?
) Og

2) Op"

3) 05

4) DEE_

frrafaf@a & & e o afagradir ¢ 2

1) O
2) 05
3) Oy
4) 0%
Ques # :12

Comolecule possesses :
D) s
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2)
3)
4)

1) e
2) Lo
3) Lo
4) Lo

Ques # :13

Select the correct statement :
D e

2)
3)
4)

L
L

L

HBY FU FT TI HITSTY :

1) Lo
2) e
3) Lo
4) o

Ques # :14

According to VSEPR theory , a molecule will have a regular shape if its central atom is surrounded by :
1) more bonding electron pairs than the lone pairs of electrons.

2) less bonding electron pairs than the lone pairs of electrons.

3) equal number of bonding electron pairs and lone pairs of electrons.

4) only bonding electron pairs.

VSEPR fAgier & 3rerar forelt 3707 r amepfor wwar gt , afe; st elrer wamop Rrr @'
1) warTehr SevereeT At AT e 31T el gl QA A |

2) UaThT SeFgTsT e T YT FH FE saiacis JeAT H |

3) et serarglst et 3R T SordrieT JIAT T RIeR HEAT H |

%) et el gl oA 9 |

Ques # :15

Which of the following molecules/ion does not have a regular shape ?
1) COy

2) CCly

3) NH4*

4) Hs0

forafaf@a # & frw srop/smaer & ampfa a8 2

1) CO,
2) CCly
3) NH4*
4) H50
Ques # :16

Which pair out of the following has similar shape and also same hybridisation of their central atoms ?
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1) BClz, NH3
2)BCl3, NOg~
3) NOs™, Hs0

4 NH; S0,%

frrafaf@a 7 & fre oo iy s ot warer § 3R 3a7d Fr aRaATor3i &1 wahor oft arHTeT 8 2
1) BCl3, NH3
2) BCly, NOg™
3) NO5, H;0

4) NH3, S0,

Ques # :17

L.

1)0,2.,4
2)4,2,0
3)2,4,0
4)2,0,4

L

1)0,2,4
2)4,2,0
3)2,4,0
42,0,4

Ques # :18

The set showing correct order of increasing bond order is :
1) 0= 0; <= NO< NO*
2)05 <05 < NO" = NO
3INO* < NO =0y < Oy
4) NO = NO" = Q5 =05

9o I FHH H YT FA AT TS THG o
1) O =07 = NO= NO*
2) 0, <0y < NO* < NO
3)NO < NO < 05 < Oy
4) NO< NO" <0y =09

Ques # :19

Which of the following is the strongest base ?
D) F

2) OH"

3) NHy

4) CHy

T A ged yea e § :
1) F

2) OH-

3) NHy

4) CHy

Ques # :20
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Select the correct statement :
D L

2)
3)
4)

L
L

il

HEY FYU FT II HIfoTY :

D) Lo
2) lo.
3) e
4) o

Ques # :21

Select the pair of soft bases :
DH, OH

2)H, CN-

3I)NO5, I

4) NH3 , CN-

Hg & & JIH HT Th Y
1) H, OH

2)H, CN-

3) NDg_ T

4) NH5 , CN-

Ques # :22

FA
=
2)Cr
3) NH3
4) CN-

L.

1) F-
2) CI
3) NH3
4) CN-

Ques # :23

Which of the following is most acidic in nature :
1) HF

2) HBr

3) Has

4) HQSE

frafaf@a & & sl ga@ sfow sa wgpfa w1e 2

1) HF
2) HBr
3) Hs5
4) HESE
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Ques # :24

Which of the following is a Lewis base :
1) Sulphur dioxide

2) Sulphur trioxide

3) Carbon monoxide

4) Carbon dioxide

T A FlaarFa e+ ¢ 2
1) gow erssitrass

2) How TISHTFATSS

3) et ATFaSS

1) FIe SEIFASS

Ques # :25

Which combination is most stable ?
1) Nal

2) KI

3) RbI

4) Csl

i1 TIT N 3w TR E 2
1) Nal
2) KI
3) RbI
4) Csl

Ques # :26

According to Bronsted and Lowry , acid out of the following is :

1) NH3
2) CDgz'
3) H;0*
4) CI

swes IR A Rgia & sqan, Amafaf@a A s @

1) NHj
2) CcO5*
3) H;0*
4) Cr

Ques # :27

Which of the following set does not represent the acid strength correctly ?

1) HOCI = HOBr
2) HCIO = HCIO3

3) H3PD4"~' ngog
4) H-0 < Ho5

frafaf@a & @ wiaar A< 3+ Taodr F1 TE TGV g1 FIdT 2

1) HOCI= HOBr
2) HCIO = HCIO;
3) H3PO4 < H3POs5
4) Ho0 < HoS
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Ques # :28

Which of the following is a group of soft acids ?
1) Be?*, Mg?*, Ca®*, Sre*

2)Cu*, Agt, Aut, Hgo*

3) Fe?* co® crt Mn*t

4) H*, Li*, Na™ , K*

frmfaf@a # a slawr g st FTasg e ?
1) Be?*, Mg?*, Ca®*, Sre*

2) Cu* Ag*, Au*, Hgo?*

3) Fe3* co®** Ccr* MR

4) H*, Li*, Na*, K*

Ques # :29

The group of soft bases is :
1) HoO, OH™, F°

2) F’D43', 3042', NO45
3) NH3, NaHy, RNH2
4)H, I, CO

HG &R FTHHF S :
1) H:O, OH™, F°

2) PD43_, 3042_, ND:;_
3) NH3, NaHy, RNH3
4)H,I', CO

Ques # :30

The correct outer electronic configration for Ni and Pt are respectively :
1) 3d%4s? ; 5d1%s"

2) 3d°4s? ; 5d%6s’

3) 3d"94s0; 5d1%6s"

4) 3d%4s1; 5d®6s?

Ni 9T Pt & {0 W 917 ST fA=ard FAA: § :
1) 3d%4s? - 5d1%s0

2) 3d8%4s? - 5d%s

3) 3d19450- 5d196s0

4) 3d%4s7- 5d%ps?

Ques # :31

Which of the following possesses highest magnetic moment ?
1) o3t

2) Co2t

3) Fed*

4) Nj2+

farafafea #F @ frasr gradhrr smget v sfew g 2
D cre
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2) Co**
3) Fed*
4) N

Ques # :32

I)NH3<CN <ClIr< F
2)CrF<F <NHz<CN
3)NH;<F < ClI<CN-
4)NH;<Clr=CN = F

1) NH;<=CN =<ClIr < F
2)Cr<=F <NH3<CN"
3) NHy<F < CIr<CN-
4)NH3<ClIr=CN =< F

Ques # :33

L.

1)5d <4d <3d
2)4d <5d <3d
3)3d <4d <5d
4)3d <5d <4d

L

1) 5d<4d<3d
2) 4d < 5d < 3d
3)3d <4d < 5d
4)3d<5d<4d

Ques # :34

L
1) Geometrical isomerism

2) Optical isomerism
3) Both Geometrical isomerism and Optical isomerism
4) Does not exhibit Both Geometrical isomerism and Optical isomerism

S&uﬁmﬂuaﬂmwaﬂ

2) yenifRIeh HATGGEAT

3) SanfadT qur yeiRieh Set gATagaan

) ST TAT YehTTRIeh FATTIGAT alalt o187 G2iTem

Ques # :35

L

1)6,0
2)4,2
3)3,3
45,1

L

1)6,0
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2)4,2
3)3,3
45,1

Ques # :36

L.

1) One
2) Two
3) Three
4) Four

L

Do
2

i)
Y gr

Ques # :37

L
1) fac-triamminetrinitritoruthenium (I1I)

2) mer -triamminetrinitritoruthenium (I11)
3) fac-trinitritotriammineruthenium (III)
4) mer-trinitritotriammineruthenium (III)

1) porh ersurAieesaAEieese g (1)
2) 1@ife ereuFrHAcsAR R e g (I1)
3) BT TrEAS IS UFATE I (1)
4) Y@ TS TFRAE T (11)

Ques # :38

L

1) (A) = Colourless ; (B) = Pink
2) (A) = Colourless ; (B) = Blue
3) (A) =Blue ; (B) = Pink

4) (A) =Pink ; (B) =Blue

D (A) =T8T ; (B) = I[errel
2) (A) = G ; (B) = afrerr
3) (A) =3I ; (B) = I[errel
4) (A) = TqeTelY ; (B) = ofrer

Ques # :39

The set of elements having S electrons in their outer d-orbitals is :
1)Cr,Mn, Tc
2) Fe , Mo, Re
3) Cr, Mn , Mo
4) Mn , Nb, W
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dcal & WHE ToreTd e d-FaTHI 7 5 FFelT g :
1) Cr,Mn, Tc
2) Fe , Mo, Re
3) Cr, Mn , Mo
4) Mn , Nb, W

Ques # :40

Which of the following is a set of coloured ions ?

1 Cu*, Mn®*, Ti?*
2 v Fedr Co?

3 Tidt V3 Mn?
4)sci cut, Tit*

frrafaf@a & @ slawr e st Fraqg &2
D) Cu*, Mn®* Ti?*
2) y2+ Fed3* Co?*

3) Ti** V3 MnZ*
4) Sc** cut, Ti**

Ques # 41

Which of the following will give maximum number of ions per molecule , in its aqueous solution ?
D [Pt(NH3)4Cl2]Clo

2) K3[Cr(C504)5]

3) [Co(NH3)4Cl5]Cl

4) [
frrafafaa & & slaar sraa Sreh fareraer & 9fa 3ro] gad srferes wear 7 3mae aam 2
1) [Pt{NH3)4Cl5]Clo

2) K3[Cr(C204)3]

3) [Co(NH3)4Cl5]Cl

4) Lo

Ques # :42

L.

14,4
2)2,4
3)4,2
42,2

L.

14,4
2)2,4
3)4,2
42,2

Ques # :43

The complex ion or molecule having square planar shape is :
1) [MnCI4
2) [Ni(CN)y*
3)
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Fe(CO)y
4)

L.

"ol T AT 39T FAHY Irpfer aot gaaa @ :
1) [MnCl4J

2) [NI(CN)J*

3) Fe(CO)4

4) Lo

Ques # :44

Number of methyl groups present in a molecule of 2,2,7-trimethyl oct-6-en-4-yn-3-ol , are :

1) 3
2) 4
3) 5
4) 6

2,2,7-STBATAT 3HTae-6-57-4-3TS1-3-3iTer & Ua 3] 7 3Ry AR wgi M aewry :
1)
2)
3)
4)

X

AN DN B~ W

Ques # :45

L.

1) tetra propyl carbon

2) tetra propyl methane

3) 4,4-di n-propyl heptane
4) 4-n-butyl-4-ethyl heptane

1) Semsifirer T

2) T AT

3) 4,4-318 n-NTAT gt

4 4-n Eﬂﬁﬂ-4-t“f?\~lﬁ goeeT

Ques # :46

The groups showing electron releasing inductive effect are :
1)-NO,, -COOH

2) -Br, -l

3) -0CH3, -CgHs5

4) -=CHs3, (CH3)3C-

gaaeiel faaATe IO ToTa YERid X AT WHE § -
1) -NO5 , -COOH

2) -Br, -l

3) -OCH;, -CgHs

4) -CHs, (CH3)5C-

Ques # :47
What is not correct about electromeric effect out of the following ?
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1) Presence of multiple bond is essential .
2) Outer attacking reagent is required.
3) it is a permanent effect.

4)

AR A A s v & Q@ adie:
l)agdﬂéﬁ3qﬁ?ﬁﬁ3ﬂaﬂﬁﬁgl
2) STET HTSHAUTHRY 3HTHeheeh I ITTThcT T & |

3) Tg U TS IHG Y |
4) |

Ques # :48

Most strong acid out of the following is :
1) o - nitrobenzoic acid

2) m - aminobenzoic acid

3) p - nitrobenzoic acid

4) p - methoxybenzoic acid

frfafad # @ ve 0F v 3
D) o-sTgerdaise 3

2) m - UATS IS 3FeT

3) p - A ITASH 3

1) p - AT SIES 3FT

Ques # :49

The group showing positive mesomeric effect is :

1) —NOs5

2) -CHO

3) -COOR

4) —OH

ATcHS AR THTT TS RIT FA AT HAZ o
1) —-NO5

2) _CHO

3) —-COOR

4) —OH

Ques # :50

What is not true for hyperconjugation ?
1) It is also known as no-bond resonance.

2) |
3) It gives stablity to the molecule
4) It is a pseudo type of effect.

I agraa & ReFmad a8 e :
1) g Y- oIS $iT hgellar g |
2) |l

3) 7rg 3107 Y T TET FRATE |
4) g Teh TeH YPR FI YA § |
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Ques # :51

The nucleophile out of the following is :
1) AICIs

2) SnCly

3) ROH

4) H;0"

ffaf@ad dfs=d e
1) AICl5
2) SnCly
3) ROH
4) H,0*

Ques # :52

Which of the following has highest boiling point ?
1) n-pentane

2) diethyl ether

3) n-butyraldehyde

4) n-butyl alcohol

i@ & ¥ fFusr Fauais 3Tadqw ¢ 2
D e

2) SEuie $2%

3) n-sgfeifeserss

4) n-sgfee Cergra
Ques # :53

Which of the following compund has lowest boiling point ?
1) o-cresol

2) p-cresol

3) m-bromophenol

4) p-bromophenol

frafaf@a g 7 ¥ rasr Fayas Reaan g ?
1) o-shrater

2) p-shrarer

3) m-sATRIATer

4) p-sTATREATer

Ques # :54

The ratio of carbon atoms in napthalene , anthracene and diphenyl molecules is :
1)4:5:
2)5:7
3)6:7:
4)4:6

L L N O

Ardeiter , YT 3 STEh AT & Ir0r3 F FreeT F AT FT AT L 2

1)4:5:6

2)5:7:6

3)6:7:5

4)4:6:5
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Ques # :55

Which of the following compund is not aromatic according to Huckel 4n+2 rule ?
1) Pyridine

2) Anthracene

3) Pyrrole

4) Cycloheptatriene

gl 4n+2 s F e, o f@a & & sl diffe wERs @@ e 2
D frdrga
2) g
3) greter

4) grgFagTererS

Ques # :56

The most stable carbanion among the following is :
1) CHEE}

2) cBrR®

3) CH3CH,®

#) (CH3),CH®

fArafaf@a # ¥ o 330s g Fdfaaa #
D) ch,®

2) cBr°

3) CH3CH,®

4) (CH3),CH®

Ques # :57

Which of the following bonds possesses highest value of bond energy :
1) C-F

2) C-Cl

3) C-Br

4) C-N

AT A @ 5 3t Y T FT FT AT a4 AF ¢

1) C-F
2) C-Cl
3) C-Br
4) C-N
Ques # :58
L.

1) CgHsNH-
2) CoHsNH5

3) (CsHsg)sNH
4) (CoHs)3NH

L
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1) CgHsNH»
2) CoHsNH,
3) (CzHs)zNH
4) (CoHs)sNH

Ques # :59

Following compound exhibits intramolecular hydrogen bonding :
1) Chloroform

2) Chloral

3) Chloral hydrate

4) p-chlorophenol

WWWWWWRW%
D) FeiReie

2) FRel

3) Felkel gT3C

4) p-FelRIBIATer

Ques # :60

Incorrect statement regarding Stobbe condenastion is :
1) It is a condensation between dialkyl succinate and aldehyde or ketone.

4) The condensation is carried out in presence of a base.

N TG & GFaeT A TTd FUA ¢ :

D) Tg sretfose afFase aur ¥esgrss a1 el & 7eg ToaaT § |

2) L.
3) -

) HereteT Ueh &R hr IuTATT H @ g |

Ques # :61

Cannizzaro's reaction is not given by :

1 _CHO

2) _CH,CHO

() ©)

3) CCI;CHO
4) (CH5)3CCHO

Hfaery AR Peafaf@a garr adi g s &
1) _CHO

e
O
~_
2) h"pHgCHD
O
~
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4) (CH3)3CCHO

Ques # :62

The product of Dieckmann reaction is :

D e
2) e
3) [
4 e

A AAfFaT FT3cUEc ] :

) e
2) e
3) el
4) e
Ques # :63

Wittig reaction is used for the preparation of :
1) Alkanes

2) Alkenes

3) Alkynes

4) Aldehydes

Rfeer sfdfr et & Rvaa # vgea adr g :
D veaer

2) YehreT

3) temree

4 tfeserss

Ques # :64

The main product of Reformatsky reaction is :

| T
2) e
3 e
D e

Resfeeh srfhfrar w1 qEar seug & -

1) e
2) e
3) e
4) e
Ques # :65
L

1) Hoffmann's Reaction
2) Curtious Reaction

3) Perkin's Reaction

4) Schmidt's Reaction

Uﬁwn?r KT
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2) wfeaw sfAfear
3) qfdhet TATHAT
4) e JfAfHar

Ques # :66

In Baeyer-Villiger oxidation following conversion takes place :
1) aldehyde to acid

2) ketone to acid

3) ketone to ester

4) Alcohol to ketone

IR RfTR 3gaas # Arafaf@d sRada glarg 2
1) dfesgrss @ 3ar

2) T 35T

3) et T TET

4) Yoalglel A AT

Ques # :67

Ratio of hydrogen , carbon and nitrogen atoms in a molecule of pyrrole is :

1)5:4:1

2)2:3:4

3)4:5:1

4)2:4:5

IS & T 0] A gISgIete , Fraet FR ATSEIST & AT T HTITT ST e :
1)5:4:1

2)2:3:4

3)4:5:1
4)2:4:5

Ques # :68

The formation of cyanohydrin from ketone is an example of :
1) electrophilic addition

2) nucleophilic addition

3) nucleophilic substitution

4) electrophilic substitution

T T ARIANEIS 3 a1 S0+ 3egRUT R :
D) gorerelor-wey e

2) AfPs-e e Qe

3) ifFrer-EE) gfaeaa=

Y soereia-Fer gfeeuTda

Ques # :69

A compound X on aldol condensation , forms a compund Y , which on dehydration gives 2-butenal . X and Y
are respectively :

D e

2) Ethanal and 4-hydroxy-4-methyl-2-pentanone
3) Propanone and aldol

4) Propanone and 3-hydroxybutanal
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% G X Yesier Fueie W e AT Y aotar §, S Asteeor W 2-sgdiee dar | 9@ X
IRy FAA: 7 :

1) Lo

2) udeter 3R 4-gregiard-4- AT -2-SeTaT

3) graeeT 3T veste

4) gratet 3R 3-gTsgieRiege e

Ques # :70

Formaldehyde undergoes Cannizzaro reaction in presence of concentrated NaOH solution to form :
1) Methanol only

2) methanoic acid only

3) Ethanol and sodium formate

4) methanol and sodium formate

wr{fesEss, Wig NaOH Y 3ufeufa & Sy siffrar garr swmar g
D) &ger Adarar

2) aet AAASH 3FT

3) wdater 3 Aifsas widfe

1) AT R AfTe wiefe

Ques # :71

Benzaldehyde reacts with acetic anhydride in presence of sodium acetate to form 3-phenylpropenoic acid .
This is an example of :

1) Wittig Reaction

2) Crossed Aldol Condensation
3) Perkin Condensation

4) Claisen Condensation

Jolfesgss , Aifzaw tHiee fi sufeufa & MRAfes daeEsEs @ A fFa wF 3-vAawReEss
3 TATAT § | T§ TS IGEROTE -

D) ryfear sfafemar

2) AT Vearel Haelel

3) gféhet HEeTeT

4) ForsteT o

Ques # :72

L.

D [
2)
3)
4)

[~
|~

"~

L.

1) |l
2) o
3) e
4) Lo
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Ques # :73

Alizarin belongs to :
1) Phthalocyanine dyes
2) Anthraquinoid dyes
3) Indigoid dyes

4) Azine dyes

efaerie Pt @ e
D) derarafaeT o

2) deyyifaitas o

3) 3fPseiss o

4) OsheT {oTeh

Ques # :74

When chlorine is passed into a cold solution of anthracene in carbondisulphide , following is obtained :
1) phenanthrene

2) anthracene monochloride

3) anthracene trichloride

4) anthracene dichloride

FTaT SBHACHISS H WY F 302 RAeaast & I FaieT Fargd T AT g Ay I aanr g :
1) fretefier

2) Yy AlAFRTSS

3) VYT eIeFelRTSS

1) teyrfie sEFNTSS

Ques # :75

When benzenediazonium sulphate is warmed in ethanol with copper powder , the product obtained is :
1) CgH5S03H

2) CgHsNH4

3) CgHsNHNH>

4) CgHsCgHs5

I Ara ISR NAIH HEHe B HIIT GUT & WY TLATer # 737 fham ST & Y Wiea 3e91g 8 :
1) CgHsSO3H

2) CgHsNH;

3) CgHsNHNH;

4) CeHsCeHs

Ques # :76

Furan undergoes the Gattermann reaction to give :
1) Furoic acid

2) Furfural

3) acyl furan

4) tetrahydrofuran

T Y ATEIHATT HTRFHAT @ FeTet ATl 3TUTE B191T -
D vtz 3

2) FTeT

3) )
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VAR

N

) eSS

Ques # :77

Which of the following does not undergo Diels-Alder reaction :
1) 1,3-butadiene

2) Cyclopentadiene

3) Furan

4) Thiophene

Prrarfafla # & Fi Sew-Yost afRfear adt aufar d 2
D'1,3-sgereréa

2) \ N\ [d
S IEC I EAC

3) e
4) arardre
Ques # :78
L.
1
T
m‘N;,x' CHO
L
2) CHO
]
|
H
3)
‘ J,,e*"k"‘CODH
N’
I|I
4) | N Cl
N.-"'
1.‘"..
]
’l“f’ CHO
2) | " | ~HD
xN.,,»*"
I
3)| i
‘ f,fLGODH
Tl.
H
4) | N Cl
N.-"'
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Ques # :79

When mixture of acetylene and hydrogen cyanide is passed through a red hot tube, the product is :
1) pyrrole

2) vinyl cyanide

3) pyridine

4) acraldehyde

St HifeeleT TUT gTSSNSIeT WIAATSS FT fRAUT I dod Aol H F Yarfed 641 SATaT § af I7a) arelr
3?‘113'%:

1) Rter

2) grsfaer ArSs

3) RS

4) trfeserss

Ques # :80

L.

1) pyrrole

2) pyridine
3) piperidine
4) quinoline

D) Rt

2) RS
3) _RRSe
4) Fgailollel

Ques # :81

Oxindole is almost completely represented by following structure:

1) @ T[’;O

M
|
H
‘"
J
N
|
H
"
B
|
H
4)
@ ]
hi] OH
H
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ifFasTEer Y warerer qoiaar s faf@a s« qarr yefia R smar e

1) = -0
o

N
I
H
2) = | |e.=f'3H
S |
N
I
H
3) = | .
SN
N ~0
H
4) = | .
\_\\ x
hi] TOH
H
Ques # :82

Pyridine when heated with excess of sodamide in toluene solution , it forms :
1) 2-amidopyridine

2) 4-amidopyridine

3) 2,4-diaminopyridine

4) 2,6-diaminopyridine

R F oo AsmAes F e 7 eieger F A R s § at PfafRe A g
D 2 tfae Rfds

2) 40 RS

3) 2, 4-sE0fAaT RS

4) 2, 6-sTSUfEA RS

Ques # :83

The Friedel-Crafts reaction of benzyl chloride gives :

1) diphenylethane

2) dichloro anthracene

3) anthracene

4) mixture of diphenylethane , dichloro anthracene and anthracene

IS FARTSS Y PIST FIoeH ATATFATF IcT T §

D) srgthfarer vaa

2) STEFelRY Ve yTeileT

3) teyreer

%) STethforel T , STSFFARY Vet 3R Ve yTEeT T fFsoT

Ques # :84

When furan reacts with n-butyl-lithium , the product formed are/is :
1) Furoic Acid

2) o
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3) 2-butyl derivative
4) 2-lithium-5-butyl derivative

9 T, n-sgfee fAfas & 3R Far € &t aote aren/ar seag §
D) wRige 3

2) .

3) 2 Sgfed Seae

4) 2-fafe-s-sgfed sgeue=

Ques # :85

When thiophene is reduced with hydrogen gas in presence of Raney nickel , it forms :
1) butane and nickel sulphide

2) butene and hydrogen sulphide

3) diethyl sulphide

4) dibutyl sulphide

ST 4RI &1 & fAwer FY 3ufPufa 7 asgioe & gany srvga=T glar €, A area g ¥ :

D) sge=1 31k feher Towrss
2) s7E1eT 3R FTSZT TehIss

3) ersufe gewigs

4) srssgfee Aewiss

Ques # :86

Which of the following is not correct for pyridine :

1) It is basic in nature.

2) It resembles benzene in many of its properties.

3) It is formed by passing a mixture of ethylene and HCN through a red hot tube.
4) When heated with n-butyl lithium, it forms 2-n-butylpyridine.

AR & for ArafaR@a A a Farad a1 & -

D oz sl gpfa 1 g |

2) s gt A 70T T ¥ P |

3) 28 ST & farw wiielisr 31 HON T TR#0T Ues &g I Tl § waTfed [har smar g |
4) oter 38 n-sgfee fafTs & a1y IRA o Srar § oY 77 2-n-sgfee AR somer &

Ques # :87

L

1)Rand S
2)Rand R
3) Sand R
4)Sand S

DRaiks
2)RARR
3) s 3R R
Ds3ks

Ques # :88
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L.

1)2S,3S
2)2R, 3R
3)3S, 2R
4)2S,3R

L.

1)2S,3S
2) 2R, 3R
3)3S,2R
4)2S, 3R

Ques # :89

L

1) Z,E-2,4-hexadiene
2) E,Z-2 ,4-hexadiene
3) Z,Z-2,4-hexadiene
4) E,E-2,4-hexadiene

F3
1) 7 E-2 4 graresss
2) E,7-2, 4-4FATSTSST
3) 7,72, 4 gFETSISSA
4) E,E-2,4- gFATEISsS

Ques # :90

L

1) (E)-1-bromo-1 , 2-dichloroethene
2) (Z)-1-bromo-1 , 2-dichloroethene
3) (E)-2-bromo-1 , 2-dichloroethene
4) (Z)-2-bromo-1 , 2-dichloroethene

Dﬁ(E)—l-Eﬂﬁf—l , 2-STSFeITde
2) (Z)-1-51#)-1 , 2-STsFelITd=
3) (B)-2-51-1 , 2-STSeFaiRITefeT
4) (2)-2-5-1 , 2-sTEFARITT

Ques # 91

DAYB(C)EZZ
2)(A)(B)(C)EZE
3)(A)(B)(C)ZEE
4)Y(A)(B)(C)ZEZ

DDA)B)(C)EZZ
2)(A)(B)(C)EZE
3)(AY(B)(C)ZEE
4)(A)B)(C)ZEZ
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Ques # :92

Select the wrong statement among the following :

1) 2-chloropropane has a plane of symmetry .

2) 2-chloropropane is achiral.

3) 2-chlorobutane does not possess a plane of symmetry.
4) 2-chlorobutane is achiral.

fArafaf@a & @ rad Fa9 F1 999 ffo
D) 2 FeiRiodsr F gAfAfS dergrar g |

2) 2 FARIIO U & |

3) 2-FeRIsgee 7 FAMAY T FAET QAT |
) 2- Ty e ¥ |

Ques # :93

Which of the following groups is an auxochrome :
1) NOs

2) NO

3) N=N

4) NH,

frafaf@a & & wiaar aog auiad+ ¢ :
1) NO,
2) NO
3) N=N
4) NH;

Ques # :94

The different kinds of environment of hydrogen atoms in the molecule in NMR spectra is given by :
1) Number of signals

2) Intensity of signals

3) Height of the signals

4) Broadness of the signals

TA.TH.IR. (NMR) FIFET 7 30T & gT831ereT qATI[3 & faffieer g & aRaer ) forad = sirar
g
D) feaat & gear
2) faTelt Fr frgar
3) fQaeTell ST FaTS
4) f@aeTelt T =itsTS

Ques # :95

Number of signals in NMR spectra of ethanol is :

1
2) 2
3) 3
4) 6

TIATH & UA.TH.IAR. (NMR) T9FeT A R{adal HT qeargidr g :
1) 1
2) 2
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3) 3
4) 6
Ques # :96

The range of finger print region in IR spectra is :
D e

2)
3)
4)

L

ITEHR. (IR) N A R e g frisr

) e
2) e
3) e
4) e
Ques # :97

The value of M/Z for the molecular ion gives for a compound :
1) Number of protons

2) Molecular weight

3) Number of atoms

4) Molecular Formula

ToTfa 3 & farw M/Z &1 &1 Y T & e eaar g :
D) grefat & g

2) 3roTideR 9K

3) AT Sy T

RELET

Ques # :98

The intensity of M + 1 peak can be used to know the number of :
1) C atoms only

2) N atoms only

3) Both C and N atoms

4) H atoms only

M + 1 9 Y cfierar 1 393 e gear s 3 frar Srar e -

D) &aer ¢ oAy

2) gl N 9T

3) ¢ 3R N gt oA
4) el H T
Ques # :99

The free radical intermediates in chemical reactions are best detected by :
1) IR Spectroscopy

2) NMR Spectroscopy

3) ESR Spectroscopy

4) UV-Visible Spectroscopy

T AT F HFd Hersh Aegafcal H qa@ ed aig § TEaEr Jdare :

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/101-Chemistry-l/sesspack/gpimages/QP_101-Chemistry-l.html 27/43



30/06/2016

1) 3¢ 31X, (IR) T IEm Y &

2) UA.UA. 3. (NMR) EXFEEH T

3) & TH.3TX. (ESR) T IEhdy &

4) g &Y. RS (UV-Visible) T I

Ques # :100

The following transformation is an example of :

Mgz — 2Alq3
1) alpha particle bombardment
2) deutron bombardment
3) proton bombardment
4) neutron bombardment

D) w1 ot sEardy
2) ST qHAY
3) gteYe JHaRY

4) sgiel sHeTY

Ques # :101

Identify ' X " in the following nuclear reaction :

228
5g AcC

1 207
) 07 Pb

X + 5a + 3B

Ques # :102

The SI unit of radioactivity is :
1) Becquerel

2) curie

3) microcurie

4) disintegrations per minute

AN Fefad Frow.ms. AEs ¢ :
D S&car

2) gy

3) ATl

4)

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/101-Chemistry-l/sesspack/gpimages/QP_101-Chemistry-l.html

College Lecturer Exam - Chemistry-I

28/43



30/06/2016 College Lecturer Exam - Chemistry-I

IECRGRIGRGEGH

Ques # :103

Which of the following nucleide shows branching decay ?
1) 234TR

2) 238

3) 236Rg

4) 211g;

farafaf@a & & wla a1 yFarss af@a a3 yeifa Fare
1) 234

2; zsaLh

3) 236Rg

4) 211B;

Ques # :104

The last member of radioactive disintegration thorium series is :
1) 224Th
2) 232ThH
3) 208pp
4) 212pp,

AN fFea Ruea ARTH Aol F13far AT &
1) 224Th
2) #2Th
3) 208pp
4) 2‘12|::b

Ques # :105

Obstruction in blood circulation may be diagnosed by injecting a salt containing :
1) 24pg

2) 32p

3) EUCD

4) 14(:

farafaf@a & @ ) va Faor & @ fAaaT eiR 7 99 (31ee) FIA 8 & IRAWT A

37GNET T IdT SIeTTAT ST AT §
1) 24Na
2) #p
3) 8¢
4) 14c

Ques # :106

If mass of a proton is p amu , mass of neutron is n amu and mass of a nucleus is N amu , then binding energy
of the nucleus is E amu x 931.5MeV , Here E is : (where Z = atomic number and A = mass number )

1) [Zp + (A-Z)n] - N
2)Zp + N - (A-Z)n
3) N- [Zp + (A-Z)n]
4) [Zp + (A-Z)n] + N
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IfE T YTeleT &1 GeIHTT p amu , T 7SIl HT GdATT n amu 3 TF A1fRF FTZIAFT N amu 7,
Y ATHF Y U ST E amu x 931.5MeV 8, 78T E 8 - (ST Z = IIHTI] HHTF T A = GeqHTA
TEATE)
1) [Zp + (A-Z)n] - N
2) Zp+ N - (A-Z)n
3) N- [Zp + (A-Z)n]
4) [Zp + (A-Z)n] + N

Ques # :107

What is not correct for a nuclear reaction ?

1) It is related with radiations.

2) It must be balanced in terms of both mass and energy.

3) Energy changes in it are far large as compared to energy changes in chemical reactions.
4) It is influenced by external conditions like atmospheric pressure.

TH ATTRAT Tl ARFI F ReFaradiadi g :

D o RfeRor g aesfa g |

2) 78 geasTe 3R Foit et Y T & Hford Qe anfew |

3) g8 g1 Tl Sl aRade , TETafer AR & g1 arer i aRadat 1 gorer & aga
HEREAE |

4) 7z ared aRfEufaal S Rz ge & genfad g1l ¥ |

Ques # :108

What is not correct for nuclear fusion ?

1) It occurs in the nuclei of light elements.

2) In such reactions percentage efficiency of the energy conversion is very high.

3) It can be initiated at any temperature .

4) Heavy nuclei are formed in such reactions apart from the release of heavy amount of energy .

AP FodeT & AT FAT T AL § 2

D) g gords aeat & afv A @xard |

2) i 3ifAfRan3it 7 Soit aRad= S gfaerd e1aar 3fa ST gl |

3) 1 fordlt $fY AT o & T ST Wl § |

4) Y 3TRTHATHT I FAT T Y AT Aehoray 3 3rerar Y AT T AT @ar g |

Ques # :109

Temperature coefficient of the reaction is equal to :
( here k is rate constant at temperature T )

1) ks s
k3s
2) kss
ks s
3) kaa_ kza
4) kza_ kaa
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D kas
k3s
2) ka5
kzs
3) kES - k?i
4) kES - kES

Ques # :110

Forthe following reaction selectthe chain propagation step
among the following :
Ha(g) + Bra(g) 8, on Brig)
D'H+HBr — Hy+ Br
2) Br+ H, —» HBr+ H
3)H+ Br; —» HBr+ Br
4) reaction Br+ H,— HBr+H & H + Bro—s HBr + Br Both

L

1) H+ HBr — Hp + Br
2) Br+ Hp —> HBr+H
3) H+ Br; —» HBr+ Br
4) e

Ques # :111

Half life time (t1) for second order reaction whose
2

initial concentration of reactantis 'a':

1) 0.693
fi=—
2 k
2) t: =k
b
1
3) ot
= ka
4 1
) =
z 2ka
L.
0.693
1) e =
2 k
2) 1= vk
z
1
3) th = —
: ka
1
Hoo L
z 2ka
Ques # :112

At a given temperature , the rate constant of a given reaction , in general, is equal to the rate of the reaction
when :

1) all reactants are in same quantity.
2) all reactants are in same state.
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3) concentration of all reactants is same .
4) concentration of all reactants is unity.

Rt faw arw arg o, &Y a1 HTRTFaT #1 X s , I AP HregT F e garg, o9 :
1) gaft 3rfPrerres @arer AT A 8t |

2) gt 31fNeRe GAT e A gl |

3) Tey TPt T Higar FAET & |

4) gofY 31T Y Higar SHES &7 |

Ques # :113

Unit for rate constant of zero order reaction is :
1) molTLs™

2) molL s

3) 5"1

4 molls

T FIfE JARRAT & Jo1 e FTAEF QT ]
1) mol'Ls™

2) molL 15

3) ¢

4) mollLs

Ques # :114

Zero order reaction means :

1) The reactants becomes zero at the end of reaction.

2) The molecularity of reaction is 1.

3) The rate of reaction is proportional to zero power of the concentration of reactant.
4) Rate constant is 1.

o P AATFIT FT IS

D) arfarfrar & 37 & 3iffeRe e T s € |

2) 31T & JrorEEdr 1 g Y |

3) arfdforar i &3 TR B HigdT A T G & FATTA I ¢ |
4) ¥ e 1 @I |

Ques # :115

According to the salt effect , the rate constant will be independent of the charges on ions if :
1) the two reactant ions have positive charges.

2) the two reactant ions have negative charges.

3) one reacting ion has positive charge and the other having negative charge.

4) one reacting ion is reacting with neutral molecule.

AT THTT & IHTHR , G FEURT 3=t O} 39U raer & ¥ g1, afe -
D) &Y 31feRes 3t W e 3aer |

2) &Y 31T Rer 3= 9T HOTcHS 3MAA & |

3) ueh HIRFRE T I UATHF HTAA § 3N gAY T K UMcHeR HEAE |

%) v 3iTRERE 3T 3Ee 10T & HfARFAT A @TE |

Ques #:116
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What is incorrect from the view point of the Collision Theory of chemical reactions ?

1) It is based on the kinetic theory of gases.

2) It assumes that reactant molecules are hard spheres and reactions occurs due to their collisions.
3) All collisions of reacting molecules result into products.

4) Increase in temperature increases the rate of reaction.

Trafas AR & gazag Rga N s T FATTaa 2

D) g 3t & sroperfay frgia ox smenRa € |

2) g AT a1 § o 31 HRF 3107 oK aMrer § 31 1R FRaT 37t caramt & FROT I Y |
3) 31 3Tt Y T Tt A 3G T § |

4) a9 & g A AP Hreg s Y |

Ques # :117

What is not correct for the theory of absolute reaction rates ?

1) it may be represented as :

+ = — | + ‘
B
2) It was developed by Eyring and Polanyi in 1935.

A—B e A T A
B

3) It is also known as the Transition State Theory or the Activated Complex Theory.

4) The activated complex formed by the reactant molecules has low energy than the energy of reactants but more
than the energy of the products.

et srfAfFaT X Rga & RvFaTad Adi g :
1) Lo
2) 3¢ 1935 3 3R 3N drere T far |

3)3%’%343?%6135%3@?@?&?« agHATH I N FET AT |
%) 37ffeRe 3T & ToF TR Tt T ol ATHFRDT T FatT F & gIel § o] 3Gl T Fol
T 3fF g |

Ques # :118

Hydrolysis of ethyl acetate in excess of water in presence
of H" ionsis :

1)  zero order reaction

2)  second order reaction

3)  pseudo first order reaction

4)  none of these

D) e ife siffsmar

2) gfacha fe sifdfsean
3) BeH gUA HIfe fATHAT
%) 5o O 1S E

Ques # :119

Which of the following reactions corresponds to the definition of enthalpy of foramtion :
D Cig)+ Oz(q) —* COgq)
2) G5+ Oz)—> COyg)
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3) Cis)+ Ogig) —>COy(q)
4) Cg)+ Og5) — COy)

AT ) Trdedl F graey A Sl @ AAFarad T

1) Cig)+ Og(q) —* COy(g
2) Cg)+ Ozy —» COz(q)

3) Cis)+ Ozgy —»COgg)
4) C(5)+ Og(s) —> COy5)

Ques # :120

The species which has zero standard molar enthalpy of formation at 298 K is :
1) Brogg)

2) Cly(q)

3) HaOq)

4) CHyq)

frafaf@a F @ fFa i Ao Ao woraer weded) 71 AT 298K W T & :
1) Bryg
2) Clyg
3) HzO(g)

Ques # :121

L.

1)-676.5kJ
2)676.5 kI
3)110.5 kJ
4)-110.5 kJ

L.

1) -676.5kJ
2) 676.5 kJ

3) 110.5kJ

4) -110.5kJ

Ques # :122

The enthalpy of neutralization of which of the following acid and base is nearly -13.6 Kcal :
1) HCN + NaOH

2) HCI + KOH

3) CH;COOH + NaOH

4) HCI + NH,4OH

AT A @ FH 3 o TUT 8TRE Y SSANHIT Tededl ST AT o9 -13.6 Keal ¢ :
1) HCN + NaOH

2) HC1 + KOH

3) CH3;COOH + NaOH

4) HCI+ NH4OH
Ques # :123

Berthlot's equation of state can be given by :
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1) a ab
PV=RT+Pb- — - —;
TV TVZ

2) a b
PV=RT+Pb- — t
™V TV

3) a ab
PV=RT+Pb- — t >
™V TV

4) a ab
PV=RT+Pb+ — >
™V TV

HTEYT FT dda! FHIAT Aeafaf@a

1) a ab
PV=RT+Pb- — - —
™V TV
2) a b
PV=RT+Pb- —+ —
TV TV2
3) a ab
PV=RT+Pb- — i
™V TV
4) a ab
PV=RT+Pb+ — + —
™V TV
Ques # :124

Joule-Thomson expansion is :
1) Isobaric

2) Isenthalpic

3) Isothermal

4) Isothermal and Isobaric

G!\?I’-WW%:
D) goersh

2) gATSedg

3) gHard

4) FEATH T FHETET

Ques # :125

Integrated Arrhenius equation helps us to :

1) find out order of the reaction.

2) find out energy of activation , if rate constant at two different temperatures is given.
3) know the molecularity of the reaction.

4) find out the rate of reaction at different temperatures.

FATH AT INFATH FHIF0T g Age A &

D sifafrar frafe aa s 7 |

2) Fishgor Fell AT = 7, I &) et ardt 9x &3 fEeRieh U € |
3) 31T &1 JURHETT AT FE H |

4) et arat o 3RfRET &X AT AT & |

Ques # :126

What is not true for thermodynamics ?

1) It is related to flow of heat.

2) It deals with energy changes accompanying all types of physical and chemical processes.
3) Its laws are applicable on matter in bulk as well as on individual atoms and molecules.

4) It helps in predicting the feasibility of a chemical reaction under the given conditions.
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FeARIAH & AT FAT A 1T & 2

D o5 SvaT & yarg A T ¥ |

2) gz w3l o & $iifae 3R TraTrateie wehat g1 arel Solt IRads & IR H Idra R |
3) s foasT UeTe Y T2 AT & WY - A1 3t HO3T IR WAL o1 S Ay B |
4) gg &) 7 ITEUT F TETAS JFTRTHAT T GEATCTdT 9dTe H A HdT & |

Ques # :127

Heat Capacity of a system between two temperatures can be given by :

1) -
C(szTl} T T,-T,

2 Cory /Ty = AT, - T)
3) CTE _Tl = q{:Ti - Tz)

4 —
) CTZJTI = qQxTxT,

&Y a1 & Feg R a7 Y FeAT aTRaT B RAT AT TFATE
1 _
)C(TzJTl} -

T,—T,
%) C(Tz /Ty) = q(T, - T,)
3) Cr, -7, =al1T, - T,)
Y Cr,r, = qxT,xT,

Ques # :128

Which statement related to thermodynamics is not correct ?

1) The difference between molar heat capacities of one mole of a gas at constant pressure and at constant volume
is equal to the gas constant.

2) First law of thermodynamics gives no idea about the direction of flow of heat.

3) Second law of thermodynamics helps to predict whether a given process or a chemical reaction can occur
spontaneously.

4) Heat is a typical form of energy , which can be completely transformed to work.

FSARIOH ¥ Frafeud AafRf@a A T FlaarFaaT g agi g 2

1) TR grer 31t TR 3mardel o) fordl) 31 o Ueh Aot 1 Ao FeATaRan3it & 37av 3t feeies &
IR EIATg |

2) SSHMEITRT ST Ugell T g7 FSHT & g1 1 7620 & IR 3 IS STTeTehiy 78T Tl

3) FeATIfaT T gERT T2 gt g Idm=  Fgg e & 3 o arar usher a1 Trarafae e waa:
IRETIK

%) FoAT U FAAY YR Y Falt &, ForaenT qol §9 & 1 7 FAEROTE AT |

Ques # :129

Which of the following process is neither spontaneous nor irrreversible ?
1) Water flows down from a hill.

2) Zn(s)+ CuS0O4(aq) — ZnS0O4(aq)+ Cu(s)

3) Diffusion of solute from a more concentrated solution to less concentrated solution , when these are brought
into contact.

4) None of these.
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farafaf@a & @ Fleaar ywar 7 a wad: yafda sk T & srgeraoia @ 2

D) St arer i iy 3R sgar § |
2) Zn(s)+ CuS0Og4(aq) — ZnS0O4(aq)+ Cu(s)

3) wer Taorg ot 3110 Hifed [aeraeT & s Fifed AerdsT 3 TAEoT, STe 3e7en @9 H AT ST S |
) g1 A FIS G

Ques # :130

L
D T, Va
AS=CyJdn— +RIn—

Tl Vl
2) T, P>
AS=Cyn— +RIn—

Tl 1

T2 VZ

AS=nCn|{ — | +nRin{ —
T1 1F"'rl

4) T, P,
AS=nCyn{— ] +nRIn| —
T2 PZ

W

1)

3)

T2 Vz
AS=Cyn— +RIn—
Tl 1;"rl

2 T P
)ﬂS:CvInT—z +RIn—=

1 l::'1

3) T, v,
AS=nCyn|{ — ) +nRin{ —
Tl Vl
4 T P
) AS =nC,n (—1) +nRIn (—1)
T2 PZ

Ques # :131
D 2Hy(g) +020) = 2H,0()

2

) 0y(g) + 2H,00) + 4 = 40K
3)H2+EE_—"' 2H"

Y 2H"+20H = 2H,0

L

) 2Hy(g) + Osl) = 2H20()

=
2) 0s(g) + 2H0() + 4= — 40H
3)Hy+2e” —» 2H"

4) 2H*+20H == 2H,0

Ques # :132

Which of the following is used as anode in a commonly used mercury cell ?
1) Zinc-amalgam

2) carbon

3) paste of HgO and carbon
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4) Zinc oxide

fArafaf@a & ¥ siaar, I T F 39ATT #F T S e #ATHED T F 0A1E F T FH FF FIAT
g
1) fSie-3r#erere

2) arder

3) HgO 3R e &1 Uee
1) foier 3iferaTSs

Ques # :133

What is not correct related to strong electrolytes ?
1) Arrhenius theory is proved to be valid when applied to strongly dissociated electrolytes.

2) Debye-Huckel theory of strong electrolytes assumes that strong electrolytes are completely dissociated in
solution.

3) Ions are not equivalent to molecules in their influence on thermodynamic properties.
4) Tons are not equivalent to molecules in their influence on transport of ions.

Yoo fAggd-3TUeT & AU A FAT W G ¢ 2

D smfaas Rgia it &g @11 & 51 yad e faegd srqaeat o o] fhar ST g |

2) yae faegd e T SATS-gahel RAEId AT § foh faerast # dael faeggd sroaea qoiaan
[ERUSGEEIGES

3) FSATAT A I[UT O I TTT F AR , 370737 & Jed 6T 8 |

4) 3merat 3 NTRIHT O 3791 T F AT, 3073 F JeT AETE |

Ques # :134

Which of the following step is not involved in rusting of iron ?

D) 2Fe® (aq) + 2H,0() + =03 (g) —» Fey03(s) + 4H*(aq)
2) Fe(s) —* Fe?* (aq) + 2e”

3 10,+2e" —» 0"

4 05 (g) + 4H" (aq) +4e= —— 2H-0(N)

e & o9 ot # frafaf@a & @ slaar avor anfAa adi 8
1) 2Fe?* (aqg) + 2H,0() +203(g) — Fey03(s) + 4H*(aq)
2) Fe(s) — Fe?* (aqg) + 2e”

3) 20+ 260 —— 0%

4) 0, (g) + 4H*" (ag) +4e — 2H,0()

Ques # :135

L.

1) Electrode concentration cell
2) cell with transference

3) cell without transference

4) electrolyte concentration cell

) sarets wiga AT
2) 31fdeTHe gora At
3)
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TRTAA g AT
4) faega 3roaey Aigar dd

Ques # :136

Which of the following is expected to have highest reduction electrode potential at 298 K ?
D 2H,0+ 26 — Hy(g) + 20H(aq)

2) 0y(Q)+ 4H™ + 4e7 —> 2H,0

3) 2H + 2e7 — Hy(g)

Y Fy(g)+ 260 —>2F

298 K W fAwafaf@a & ¥ fhur raaaeT saeeis fasa ITadw amfaa g ?
1) 2H,0+ 26 — H,(g) + 20H(aq)

2) 05(g)+4H" + 4e¢ — 2H,0

3) 2H"+ 2e° — Ha(g)

4) Fo(g)+2e —*2F

Ques # :137

Which of the following set of cell reactions is not written corretly ?
D Hy(g) — 2H"+ 2e
Hg-Cls +2e- —» 2Hq(l) + 2CI
2) Zn(s)+ 40H —* Zn0y% + 2H,0 + 2¢°
HgO(s) + HoO +2e- —*Hq(l) + 20H"
3) Al —> AP+ 3¢
6Br-+ 3e-—* 3B
4) Zn(s) — Zn<"+ 2"
Cu*2e —*Cu(s)

faraifat@a & do sfRfFaat #1 Hlaar wog 78 oS § @ gan g g 2
1) Ho(g) —» 2H" + 2e
Hg-Cls +2e- —» 2Hg(l) + 2CI
2) Zn(s) + 40H" —* Zn0,% + 2H,0 + 2e”
HgO(s) + H,O +2e —*Hg(l) + 20H"
3) Al — > APF* + 3e
6Br-+ 3e"— 3B
4) Zn(s) — Zn?*+ 2e"
Cu?*2e” —*Cu(s)

Ques # :138
L.
D _0.76 + 2221050.005 volt

2

2) 0.1x95  0.0591
) ot log 0.76 volt
100 2

3) 0.1x95

TR log0.76 volt

4) —0.76+ log 1= o 1t
100

5..
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—0.76 + U'“jgl

2) 0.1 :
) 0.1x95 O USgllﬂgﬂ.?ﬁ volt
100 2

3) 0.1x95

TR log0.76 volt

4) —0.76+ log21*% 1t
100

log 0.095 volt

Ques # :139

Most abundant element on the earth-crust is :

1) Fe
2) Al
3) Si
4) O

3T F TR T AT H IR A 1T Aeed § -
1) Fe
2) Al
3) Si
4) 0

Ques # :140

In biological fixation of nitrogen , the nitrogen is initially converted into :

1) HNO4

2) HNOs
3) NOs»
4) NH;

ATSEISTeT & Sfas FHAHIFHIOT 7 ATSEISeT IR & Arafaf@a # aRafdaadi g :
1) HNO;3

2) HNOs
3) NOs
4) NHs

Ques # :141

Exposure to vinyl chloride vapours carries a risk of following cancer :
1) Liver

2) Lung

3) Bladder

4) Marrow

aTEforel FARTES 159 F TH1T & 3 A Ao f@d FI e FTERT AT
1) fyat

2) thpar

3) TR

4) FraT

Ques # :142

The average concentration of following constituents of photochemical smog is in the sequence given below :

1) CD:’CGQFCHq}Gg
2)CHy>C0y > CO> 04
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3)(:02 = (C0O=05=CHy
4) COs = CO=CHy= O3

YT THISAT 4 & W Y Jiaa qigar #1 w4 Frafar@da g ?
1) CO=C0Os=CHy= 04
2) CH4=C0QO5 > CO = 0O
3) CO;>C0O=05=CHy
4) CDE} CO }GH4:=‘ Dg

Ques # :143

During ozone depletion process in nature by chlorofluorocarbons following free radicals are formed except
the :

D¢

2 cio’

3 clo,’
4 clog

Yo F FARIFIARIFTET GaRT AT HIETT A JFd AAF q91d ¢, A eatfaiad & :
H o cr

2) ciot

3)  clos’
4 clos
Ques # :144

Haemoglobin has about 210 times more affinity with the following gas than for oxygen ?

1) CO;
2) CO
3) S0,
4) No

geafae # fafaf@a 3w & ufer aeyar siferdisrer 1 qare 7 aererer 210 o 0= 3
1) CO,

2) CO

3) S0
4) N
Ques # :145

Bhopal's Union Carbide Plant was a manufacturing unit for the following insecticide :
1) Methiocarb

2) Aldrin

3) Carbaryl

4) Dementon

TSl T IfATT FTaT83 Tellee fArafa i@ freamel & scareer Fr g1$ a1 2
D) Aforers

2)13-%;\;;[

3) et

4) S
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Ques # :146

The greenhouse contribution of following gas is maximum :

1) O
2) CHy
3) CO
4) CO,

farafaf@d 3t #1 NaeEy e gad sfaw g :

1) Os
2) CHy
3) CO
4) CO,
Ques # :147

Stratosphere lies between :

1) troposphere and mesosphere
2) thermosphere and mesosphere
3) thermosphere and exosphere
4) exosphere and mesosphere

AAdIHS s ST gare .
D) efvsraiser 3N Aegsser

2) yAfehRR 3R FegsEsT
3) emfefrr 3k afgeisa

1) gfgeizer 3R AvgdAz

Ques # :148

Which of the following set belongs to greenhouse gases :

1) COy ., Cly, Hs

2) CH4, CO |, O
3) CO,5, CH4, N5O
4) L

farafafad & @ slqar de e duiwre 2
1) CO5, Cly . Hy

2) CHy, CO . 05

3) CO,, CHy, N2O

4) .

Ques # :149

In ozone layer a pollutant X under the infulence of ultra violet radiation form chlorine atoms , which react
with ozone molecules to form oxygen gas and Y molecules. X and Y respectively are :

1) CCI3F and CIO"
2) CClsFandCI
3) CClgand ClOs
4) CClzFzand CIO

HSANT I H TF Jq¥a X R erett AT & warra F Felier weaAropat &1 fAaAtor svary |
3T & rop3t & AR T o AT AR Y Favpaaard | X IRy FaAer: ¢

1) CClsF and CIO™
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2) CClsF and CI
3) CClyand ClOs
4) CClzF5and CIO

Ques # :150

L.

1) Succinic Acid
2) Formic acid
3) Benzoic Acid
4) Cinnamic acid
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